Chiffres Romains (H)

Faites la conversion entre les numéraux arabes et romains ci-dessous.

MMCLXI = 2161 MMCVI =
MMMCCVLI = MXLII =
MMDLII = MMCCCLXXXIV =
IMMDCCCLXXXVII = MMMCDXIX =
MMMDCCCXVIII = MMMCIX =

MMMDCXL = 3640 = 3208

= 2557 = 2233

= 2482 = 3204

= 2721 = 1611

= 3328 = 2554
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Chiffres Romains (H) Solutions

Faites la conversion entre les numéraux arabes et romains ci-dessous.

MMCLXI

MMMCCVLI

MMDLII

TMMDCCCLXXXVII

MMMDCCCXVIII

MMMDCXL

MMDLVII

MMLDXXXII

MMDCCXXI

MMMCCCXXVIII

2552

3640

2557

2482

2721

3328

2161

3246

3887

3818

MMCVI

MXLII

MMCCCLXXXIV

MMMCDXIX

MMMCIX

MMMCCVIII

MMCCXXXIII

MMMCCIV

MDCXI

MMDLIV

2106

1042

2384

3419

3109

3208

2233

3204

1611

2554
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